QUESTION PAPER EXAM - CGM-12

NO. 179967
937 93/ Question Paper
fau=r - iUt wa arfehen S=aT (fagsr =6is - 06)
SUBJECT - MATHEMATICS & LOGICAL ABILITY (SUBJECT CODE - 06)
. e U3 § gef e 93 § el R .
AfRRTT 3fF - 200 | 5o ) T s T - 03:00 =
) Number of Pages in Number of Questions in i
Maximum Marks - 200 | Question-Paper:----— Question-Paper:----- Time - 03:00 Hours

Thenfiat ST el Srer ST e I ¥ 99 Y

To be filled by Candidates by Black Ball-Point pen only

ROLL NO.

Examination Center Code

. T : HY A e T T @ S aRE UeH T SEE o € qur 3 o eI §.

TR R I i T T & T T e ¢
Declaration: I have read and understand the directions given below and totally agree with them.
arpell 3 BT ESIED
(Signature of Candidates) (Date)-----------
3reTeft T A SRR
(Name of Candidates) (Time)----------

sreafefat 7 fder

|t g rfrarf €. 1.
9Tt AT vt Wity uey T quse & 9-Uy e uF a9r 2.
Y9-TE-Sil YRt (QAB) T 2Tavdeh Ufafe s 29 10

Tt et stfafter wae foan s,

UP-UF 9T QAB ¥ f&UT 1 v @Y wfafe & & qd

Sl @ Fel Tm WA WY ST SEvd W ol =T 3
e fREr o yehe St fagifa 29 X diges gl @

TF-T/ QAB &I U URT UTed /AT ATfRT.

Y9-UT q9T QAB ¥ W Uiafedt et/ el sfet rge

T =, *
Yot o Temar srerar SIS yrEw ¥ At W W fonwdy ofr A ¥ N

T GEET gET S Ffe I U W FfeAt wr W 9
TATeRTUT AT ST WA W ANl W T g UH
YgAl hT STufe AT T HEAT SO Sad & ded W
ST T SENT [T e T&T ferar s,

sraffel ¥ wliEm & SO fRdl W YR S ShoeRIeiey,
T aer , HiAlE el Thid, USIT SAGaT 3= Tehdl 97 YehTT & 6.
T & IO S ST Y9N quia: afsfa qar de4T €.

Th T Shael UPH-U o 3ifaw < g3t uT ferar T Wehar
2. 7.

INSTRUCTIONS FOR CANDIDATES

All questions are compulsory.

Extra time of 10 minutes will be given for careful reading
and understanding instructions as well as for making
required entries in Question Paper and Question Cum
Answer Booklet (QAB).

Before making any entry on Question Paper and QAB
candidate should count and check the no. of pages and if
any discrepancy is seen then invigilator should be informed
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TI—3 Hel 3rferad AH—200
Uus—1
SECTION-1

(8fp—{2x20} 40 37e)
(B TTT—02 3(h)

2 _ 2
[ U99—1 or aﬁm (728+158)2+(728-158)

728x728+158x158
(728+158)%+(728-158)%

Question No 1- Calculate
728x728+158%x158

UT9—2 A 3T I

Question No 2- Find the value. 112 4+ 122 + 132 + 142 + -+ svoeeees +202
< Ue-3 A £ =274 (x+y): (v +7) T AT DRA

—

Question No 3- Iff4 = = then find the value of x+y)@+7

U99—4 If€ a:b = 4:5 TG b:c = 3:4, A9 a: b: ¢ BT A ST B
Question No4- If a:b =4:5 and b: c = 3: 4, then find the value of a:b:c
\
((U%—1  S9 I B S wx R g P(-8,3) fgeit (2, —2) 3R (—4,1) BT e arell X@r B
fTfore e 2 |

Question No 1- Find the ratio in which P (-8, 3) divides the join of (2, -2) and (-4, 1)

JI9—2 0 arel g3 &1 SUANT ) fAgait A(=2,3), B(1,2) 3R €(7,0) BT ARG A |

Question No 2- Use distance formula to show that the points A(-2,3), B(1, 2) and C (7,0) are collinear.

Jei—3 36° &I wfde #19 # yRafia SR |

Question No 3- Convert 369 into centesimal measure.

Ue9—4 60° 0T BT ST H I BT |

L Question No 4- Express 60° angle in radian.

A

(g1 srenRem fafy @ar 2 ?
Question No 1-What is Algoritham Method.
UTI—2 AR Ared &l gk falag ?
< Question No 2-Define Arithmetic Mean.
Ue—3 wiiyaar &1 AarT uwy fafey ?
Question No 3-State the Additive law of Probality
Ue—4 TP BT A9 A DIVY, ST&l AR A AR AICIDT HHA: 18 MR 15 & |

L Question No 4- Find Mode, where Arithmetic Mean and Median are 18 and 15 respectively.

([ U1 H@riaT BN 320 BT 28% + 280 BT 50%
Question No 1- Evaluate 28% of 320 + 50% of 280

31 .
g2, %1 wfererq # uRafia &
31
Question No 2- Change =0 into percentage.
U3 fama 4eg 91d Hifoiy afe
DI YoI = . 56.25 M = 20%

Question No 3- Find selling price, where
Cost price = Rs. 56.25 Gain =20%
Ue9—4 A UG B U A1 <l wrd &7 3 faaf § oxdd €1 A 3Bl fl Brd BT 12 e § $=ar 8 @ B B
I9 BRI DI fopart A1 7 qof wxm?
Question No 4- A and B together can complete a piece of work in 3 days. If A alone can complete the same work in 12 days, in
\ how many days can B alone complete the work.

‘

ToT—1 afe + &1 e x, x B1 3ef 4+, — BT 37 + Ud + B 37ef — 81, AT 20-8%44+3+2 BT T9 AT B |

Q.No. 1- If+means X, x means +, - means + and + means -, then find the value of 20-8 ¥ 44342

YTA—2 < raiNTs B AERT BT JUIGHA F T TR fhdw 1er I &9 H W, 59 &9 # 9 e 7 &°
Q.No.-2 Ifletters of word FAINTS are arranged alphabetically then find the number letters whose order remain unchanged
U99—3 e priMaARY T U R & fhaw i & T T% & 919 s & Sd7 &) 3R 8 Rfad 59 99
SIS auiTer # g &7

Q.No.-3 How many pair of letters are there in the word PRIMARY having the same number of letters between them in this
word as they have in the English alphabet.

Ue—4 Rl & =faRad Sirst § S9 Siie &1 9T &R Sl $9 §H8 & 78l — VX, DF, NP, PS, JL

\_ Q.No.-4 Find the pair of letters from the following pairs of letters which does not belong to the group VX, DF, NP, PS, JL

A
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Lug—2
SECTION-2
(8fp—{4x10} 40 37e)
(B UTT—04 3(h)

(Ue—5 S O 02 St @ AR BT AN ST B S 03 F R B |

Question No 5- Find the sum of all two digits numbers divisible by 03.

T | ged—6 <t et BT o6 11 2 Ud S AN BT 1,/501 9 B | A=ATRI BT ST B |
Question No 6- The difference of two numbers is 11 and one-fifth of their sum is 9. Find the number.
p
Jea—5 . fagall (3,—1) Td (—6,5) BT Sirew drell Y@r FHrfaa @ ot 2 | Brfa & arel fagelt &
frdenas S &
HIT—=2 < Question No 5- The line joining the points (3, -1) and (-6, 5) is trisected. Find the Coordinates of the points of trisection.
3 . .
U3T—6 IT cos O =< T9 sinf Td tang BT AT AT B |
\ Question No 6- Ifcos 8 =is then find the values of sin 6 and tan 6
U5 (8.625),, I GRIHS 3fdi # yRafid HINTY |
=3 Question No 5- Convest (8.625)10 into Binary number.
UT—6 §< AT & YA 3 fbsdl <7 a1 O 3ipl arell |&m &7 avf S &)y &l fafy \a\smsy |
Question No 6-Explain the method to find the square roots of two or three digit number, using mixed addition.
(U5 <1 Gl B iR 1450 © AR Y AT BT 7% A G B 9% b IRIER T A A=A I
B |
J— Question No 5- Different of two numbers is 1450. If 7% of one number is 9% of the other number, find the two numbers.

T99—6 A, B TG C BT T IR 45 fb.IT. 2| Ife A 3R B BT 3T IR 40 fHIT. 3R 8 TF ¢ &7 3T IR
43 U7 € 97 8 &7 YR =T I |

Question No 6- The average weight of A, B and C is 45 kg. If the average weight of A and B be 40 kg. and that of B and C be 43
kg. then find the weight of B.

(I,TFI—SU%%%+3ﬁ?xawmgsﬁ?4aﬁaﬂwﬁqﬁaﬁﬁmﬁmwﬁaﬁﬁﬂ%®ﬁﬁaﬁﬂw

FHIGROT FE BIIT?
(i) 94 «7+97=329 (ii) 47 # 9+94=18
(iii) 94x 7+47=329 (iv) 49 #7+49=7
Q.No.-5 If the symbols + and x and numbers 9 and 4 are interchanged then which of the following equations is trace.
(i) 94 x7+97=329 (ii) 47 # 9+94=18
(iii) 94x 7+47=329 (iv) 49 ¥.7+49=7
Uei—6 ffeiRad s1eR el @1 & T APl & ATAR PIedg di—

Q.No.-6 Code the following group of letters as per the given table
XAFRSM, KAXFRU, FXVASK, RIMUSV
31&IN (Letter) :AMVRSFKJUX

L AT PTS (Number Code) : 6435802791

Lls—3
SECTION-3

(atr—({8x5} 40 37h)
(B YTT—08 3(h)

U99—7 Th IRAT T b} dY 2| 3ipl BT AT 7 2| IfT A= I 45 TS WIAT & O &7 & b 9 |
ool O & | T S BRI |

Question No 7- A number consists of two digits. The sum of digits are 7. If 45 is subtracted from the number, its digits are
interchanged. Find the number.

YII—7 o1g 3 gl arer e @ 28 9. § A6aR U6 Gol AEHA @il § gRafid @ ol 2
QTel DI TTERIS U &A1 S HIfTY |

Question No 7- A semi circular sheet of metal of diameter 28cm is shaped into an open conical cup. Find the depth and
capacity of the cup.
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Ue—7 WO fawa 3§ A, B 3R CH HH: 20, 40 3MR 80 3 UMK 3, S JlTdR S@I== §RT YR & |

Question No 7- In mathematics Subject A, B and C get 20, 40 and 80 marks respectively. Draw a Pie-chart and depict it.

Ue—7 fy=ferRaa arferat &1 samgde otemrM &)1 vd < w1y bt &1 SR Q-
e § 100 WETRAT BT SHP gRT HIfdE IR TG AR IR H U bl B AR R GHTHROT —

Question No 7- Study the following table carefully and answer the questions given below-
Classification of 100 students based on the marks obtained by them in physics & chemistry in an examination-

40 Td HWR 30 Ud W | 20 T4 HW 10 U4 HW 0 Td HUR
40 and 30 and 20 and 10 and 0 and above
above above above above

s e 9 32 80 92 100

Physics

RERA A 4 21 66 81 100

Chemistry

ESiEH 7 27 73 87 100

(Aggregate)

average

(i) S TRenfiAt @ HEm S B S G H 40% F B F U B B |
Find number of students scoring less than 40% marks in aggregate.

(i) afg Ao e # Sog remT B AU 60% 36 W SR MMaegd © A HIfdd AR H Sod Jeudq B
forg fopam B3 Ay 87

If at least 60% marks in physics are required for pursuing higher studies in physics, how many students will be eligible to
pursue higher studies in physics?

(iii) 3| e SAIe 30 B UR SV B dTel WRIETAN B HRAT UG el § IAUH 30 B UR [T
B aTel el @ e ¥ iR = |
What is the number of students passed with 30 as cut-off marks in Chemistry and those passed with 30 as cut-off in
aggregate.

(iv) T A | B B 60% 3id U B arel qRIefRi w1 uirera sid & |

Find out percentage of students obtained at least 60% marks in chemistry.

SECTION-4

(@ip—{20%2} 40 3h)
(TP geA—20 37D)
(39 @vs A faf=1 9 4 §o 03 yeA g oy |
(@ @dfera ys 93 @ @ 05 AR 7 G fHE WY 03 90T @ B WHd 2) wweft T @ DI 02
IR oA i)
Ue—8 TuIgd fF a, b, c,d FARUG # B IS :
Question No 8- Show that a, b, ¢, d are in proportion if :
(i) (6a+7b): (6c+7d):: (6a-7b): (6¢-7d)
(i) (2a2+3b?): (2c2+3d2) : : (2a2-3b?) : (2c2-3d2)
(iii) (a+b+c+d) (a-b-c+d) = (a+b-c-d) (a-b+c-d

Ue—8 3 RSP BVl & AP UMl & Hed Hae U BRI FIfe qerial fh—
sin (90°- 8)=cos 8
cos (90°- B)=sin 8
tan (90°- )=cot 6
cot (90°- B)=tan 6
cosec (90°- B)=sec O
sec (900- 8)=cosec 8
Question No 8- Find the relations between the trigonometrical ratios of two complementary angles i.e. show that :
sin (90°- 8)=cos 8
cos (90°- B)=sin 8
tan (90°- )=cot 6
cot (90°- B)=tan 6
cosec (90°- B)=sec O
sec (90°- 8)=cosec 8

Ue—8 TRNIRYM P! #eayul el Bl W BIFTY |

Question No 8- Explain important features of Algorithm.

(@eIr :— A YV Y YT AW 9RT 04 UG ANT 05 § 9§ A & "ahd € |)
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U U393 (IO Ud difbds Ara)
EUS—5
SECTION-5

(3iep—{40x1]} 40 3iep)
(URAS UTT—40 3ih)

(39 @vs ¥ fafy=1 wrif @ | 02 uw fAy W |
(@ wdfera ye 93 @ @ 05 WRN A A fHE WA 02 ANT @ B WS ?) rweft B 3 | FIY 01
BT SwiX AT BIM)

Ue—9 IR—UTH AT Buil & AW~ =gg Hal & i 99 2010 H Y q{ol I S UL (daRer &1 gwrian
2| ITH BT YT HINTY U S 9arq QT T T & IR ST |

Question No 9- The bar-graph given below show's the percentage distribution of total expenditures of a company under
various expense heads during 2010. Study the graph and answer the questions that follow:

(i) T W =TT AT IR @ | fha ufoer sarer 27
The expeqditure on the interest on loans is by what percent more than the expenditures on transport?
(ii) ST T AT TR FHI @A BT BR Yd F0T TR AT W Gl Td BT a7 UM 87

What is the ratio of the total expenditure on infrastructure and transport to the total expenditure on taxes and interest on
loans?

(ii) IfE IS R W9 . 2.10 HRIS & q9 AR H T Td BRI H T BT 3R S B |

If the expenditure on advertisement is Rs. 2.10 crores then find the difference between the expenditures on transport and
taxes.

(iv) DU BT I = MY Td fABrd R FF BT o 1 22

The total amount of expenditures of the company is how many times the expenditure on research and development?

(@ -— A YV MY YT AV 9FT 01, 02 T4 9RT 03 # A T 8 ¥ad ¢ )
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